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SECTION-I

wfere we vaTaH o

PHYSICS AND CHE

WHY : 36 atfirsaw afw : 300 Time : 3 Hours

1. el ¥ 5 suan fee e s d 2

2. Wil feat wfraar o @i feas #t ot ? 2.
(1) =@
(2) W
@) T=HE °
#) A .
3. gffmawe? | 3.
(1) U S aTet ST 3T
() e
(3) fradt o #F T Y W e
AR -
(4) ot o=l &t T R W ST
YTcH 3G -
4, IYATAF Sl ITeTehdl - | 4.
(1) AI9HM % S o T e He & |
(3) ST % Wi 8 W ERT A |
(4) 3T F e &1 W FH Fedl ¢ |

5. v sl o e ferftg e 7 5.
@ MLIT! @ MIL'T
3) MiL2t! 4) M!'L2T2

6. e o W T e & 7 6.
(1) D.C.wfwe :
) AC.®fwe: -

(3) dAEEwe
4) THIDER

MISTRY

Max. Marks : 30

Photoclectric ccll' i_s used 1n
(1) Bridge -recuflcr

(2) Amplifier

(3) gmoke detector

4) Electric bell.

Natural Radioactivity was discovered

by .

(1) Rontgen

(2) Becquerel

(3) Rutherford
(4) Madam Curie

‘Thermions are

(1) positive ions possessing thermal

energy ;
(2) negative 1ons possessing thermal
energy ‘
(3) electrons emitted by a material on
heating it ;

(4) positive ions emitted by a
material on heating it
Conductivity of a semiconductor

(1) always decreases with increase in
temperature

(2) increases with increase in its

temperature

(3) always increases with addition of
1mpurity

(4) always decreases with addition of
impurity

The dimensional formula for angular

momentum is

(1) MOL!T ) M'L'T!

3) M'L2T! 4) M!L2T72

A capacitor works on

(I) D.C. circuits

(2) A.C. circuits

(3) - Both the circuits N
(4) None of these -

Group-E




10.

11.

12.

wmwrﬁa%mﬁwm%‘mﬁ

TOTIEAT ST 37150 R war g 2
(1) §FadE | (2) T
(3) TRE (4) 99 IFaHE

fomm =t 3w wmEr &1 AW e St wi

T | Heifua ¥ |
(1) St

(2) @

(3) arg et
(4) T AP TG

Fretified # @ B @ A S 2
AT e & 2

(1) HRRA -

(2) wwEH

3)

@ @@

fr a0] § R WAN] F FESHA H

TTRA! 1 3L BT € 2

(1) H, (2) CH,
3) ccl, 4) CHCl
4.184 e fepereh SR @I & 2

(1) 1cal () 2cal
(3) 3cal (4) 4cal

C(s) + O,(g) — CO,(g) 3iufshar < feg,
firad T/ (AH) & A9 W T s
_394 kJ ¥ | f@a em@ed (AE) W A
afwfsrar gt

(1) +394k1 (2
(3) -394kJ @

+39.4KkJ
—39.4KkJ

Group-E

10.

11.

12.

The thermodynamic process in which
volume of the system remains constant
is called

(1) i_sothennal (2)
(3) 1sobaric 4)

adiabatic

isochoric

Name the branch of science  which
deals with the study of sound and
sound waves

(1) aeronautics
(2) acoustics
(3) aerostatics

(4) none of these

Which of these foods is not energy-
giving ?

(1) Margarine

(2) Mushrooms

(3) Sugar

(4) (2)and (3) both

In which molecule, valence shell of
each atom has octet of electrons ?

(1) H, 2) CH,
@) ccl, (4) CHCI

4.184 Joule is equal to
(1) 1cal 2)
(3) 3cal 4)

2 cal
4 cal

For a reaction C(s) + O,(g) — CO,(g),

heat of reaction at constant pressure
(AH) and temperature is -394 kJ. Its
heat of reaction at constant volume
(AE) will be

(1) +394kl @
3) -39%KkJ 4)

+39.4 k)
-39.4kJ

+



k3

14.

15.

16.

17.

18.

2C(s) + 3Hy(g) = CyHg (2) AH = -90 k)
femme 115 UM R @ = A e
AT '

(1) =90kl (2)  +90kl

(3) -45kJ 4) +45k)
N,O (2) @ NO () & Fmior &t weifew
82 @ 90 kJ mol™' & 1 2N,0(g) + O,(g)
— 4NO(g) 3hfomar =t vt &

(1) 8kJ ) -16kJ

(3) 88kJ 4) 196kJ -

T e (E) e -
TR e (Z) @ weifua & 2
(1) Z=Ex96500

(® E=gs5

3) Z=grery

(4) E=7Zx96500

Y[ WA et et &9 8 ?

(1) =Faada -

(2) I qA

3) W&

(4) e g |

gt S OH~ 31 WigoT i 1 ¢ fraam
pH=5%7 |

(1) 1x10°M  (2) 1x1070M
(3) 1x10°M (4 "1x10'M

yicRiyes °iet &l wierige fhar fageh sror
gt g ? '

(1) et SIRfeTa STeraT

(2) e SRf T

(3) R 37T & s GHT -

(4) 7 AR ST 7 ARG

13.

14.

15.

16.

17.

18.

(3) 88kJ 4)

Given 2C(s) * 3H,(8) = GHy (p)
_ .90 kJ. Heat liberated iy

AH _ '
formation of 15 gm of ethane will be
(1) 90 kJ (2) +90kJ
(3) .« 45 klJ (4) +45kJ

The enthalpies of formation of N,O (g)

and NO (g) are 82 and 90 kJ mol-!
The enthalpy of the reaction
2N,0(g) + 0,(8) ~ 4NO(g) 1s

(1) 8kJ 2) -16k]
196 kJ

- Chemical équivalent (E) is related to

electro-chemical equivalent (Z) by
relation
(1) Z=Ex 96500

7

(@) E=96500
_E
) Z=796500

4) E=Zx96500

Dry cell is a modified version of
(1) Daniel cell

(2) Leclanche cell

(3) Car battery

(4) Cadmium cell

The OH™ion concentration of solution
whose pH =5 is

(1) 1x10°°M (2) 1 x10-19M
(3) 1x10°M (@4 1x10"M

Buffer action of buffer solution is due
to

(1) Only reserved acidity

(2)  Only reserved alkanility

(3.) ‘Both  reserved acidity and
alkanility

(4) Neither reserved acidity nor
reserved alkanility

Group-E



19, Sl 3RAIGaT T T w0

20.

21,

22.

(1) CH,COOH > CICH,COOH >
HCOOH

(2) HCOOH >
CH,COOH

CICH,COOH >

(3) CICH,COOH > HCOOH >

CH,COOH

(4) HCOOH > CH,COOH >
CICH,COOH

AT 9fshar #, 1 atm, 1.5 atm, 2 atm @
2.5 atm W 50 gm HEHT W RIS 19

i 21 el & | % s S

e & 7
(1) 1atm (2) 1.5atm

(3) '2atm (4) 2.5atm

s el e ot g
(1) frsoiass

(2) v 5

(3) wa# fowfatw

4) g faafasa

Yier 1 YR amu ¥ a8 ?
(1) 1.0072

@) 10.072

(5) 1.072

@ 1.72

Group-E

19.

20.

21.

22,

(1) latm )

Order of increasing acidity is
(1) CH,COOH > CICH,COOH >
HCOOH

(2) HCOOH > CICH,COOH >
CH,COOH

(3) CICH,COOH >
CH,COOH

HCOOH >

(4) HCOOH > CH,COOH >
CICH,COOH

In an isothermal process, nitrogen gas
is adsorbed on 50 gms of mica at 1 atm.
1.5 atm, 2 atm and 2.5 aim. The

adsorption will be maximum at
1.5 atm

(3) 2atm (4) 2.5atm

Emulsion - is a colloidal system
containing

(1) Miscible liquids | -
(2) Immiscible liquids
(3) Gas dispersed in liquid

'4) Liquid dispersed in solid

Mass of proton in amu is
(1) 1.0072
(2) 10.072

i@y 1072

@4 1.72



23.

24,

25.

26.

27.

T o7 o g @ 23.

(1) T AT A& T F0g R
() TR ¥ HEY T |- yR

| (3) TS O ST T T R

(4) T FOTHF ST AR 1-3F7 R

N+ H 5 015 + x T afufier © 24,

qx R ?

(1) on! . @ H

G) ¢ (4) y-ferel
a”tuﬁtiﬁa%aﬁmanf@ﬁw% 25.
(1) He ‘ (2) Ne

(3) Ar 4) Kr

e sifaRTEe F STl Siet gl & 26.
(1) 3w "

2) &R’E’

() ST

(4) onira a1 et

mﬁ%wﬁaaﬁmamaﬂw%m%? |
(1) o oy Rt e
(2) e syt s AT

(3)  &ffoT 3T TRAT] STHHOT

4) mmmw

27.

Beta particles have

(1) Unit positive

negligible mass ‘

Unit positive charge and 1-upj

mass

(3) Unit negative ~ charge and
negligible mass

(4) Unit negative charge and 1-unit:
mass

charge ang

2)

What is x in nuclear reaction
5

7N'4+|H' - 40 54 x

Hy o 0 @ H

3 4 (4)  y-rays

The last member of third row element
1S

(1) He 2) Ne
(3) Ar @) Kr

Aqueous solution of basic oxide is
(1) Acidic

(2) Alkaline

3) Ngutral _

(4) Acidic or alkaline

Malleability and ductility of metals is
due to

(1) Directional character of metallic

bond

(2) Non-directional character of
metallic bond

(3) Weak interatomic attraction
4) Strong interatomic attraction

Group-E



28.

29.

30.

31.

32.

33.

34,

;ﬂ?m%‘ﬁ’lﬂ?m%ﬁwwa’mﬁm
(s

(1) @A ) s

(3), AR (4 A
TR ATt T A R w9 & o 39
R forwet o fpar s & 2

(1) FBram

(2) FAH

(3) wIRE

(4) SR STEFAR

femr smare fored s e a2 ?
(1) 9w )

(3) udHeH 4) =

» g1 & 9 fafere @ s gifite =/
FEAE ?

(1) faferehe Q) fefewrms
(3) fafert (4) WS
R 1 T G 18 ?

(1) CaO,3MgO, SiO,
(2) CaO,3MgO, 2Si0,
(3) CaO, 3MgO, 3Si0,
(4) CaO, 3MgO, 4Si0,

gifis CH,~CHBr-CH; %1 [UPAC ™

FE?

(1) n-WdEd AES
Q) IR FHES
(3) 1w
(4) 2-5 A

P A @ e e R g A E

28.

29,

30.

31.

32.

33.

34.

Which

halogen is solid at room
temperature ?
(1) Todine (2) Bromine
(3) Chlorine (4) Fluorine

To make cooking utensil non-stick. it is
coated with -

(1) Freon

(2) Teflon

(3) Fluorine |

(4) Oxygen difluorine

Tinchere iodine is a solution of iodine
in

(1) Water (2) Ethanol
(3) Acetone (4) Benzene

The compound formed by silicon with
metals is called

(1) Silicate (2) Silicide
(3) Silicone (4) Metallide

The chemical formula of asbestos is
(1) Ca0, 3MgO, SiO,

(2) CaO, 3MgO, 28i0,

(3) CaO, 3MgO, 3810,

(4) CaO,3MgO, 4Si0,

The IUPAC name of the compound
CH,-CHBr-CHj is

(1 ) n-propyl. bromide

(2) Isopropyl bromide

(3) 1-bromo propane

(4) 2-bromo propane

Which of the following gas is known as -
war-gas ?

(1) Methane

(2) Thionyl chloride
(3) Phosphene

(4) Phosgene



35.

36.

37.

38.

39.

u.c.m. ® 7 F1 a7 foFg s T & 0
(1) FJAFF% AW

(2) o ! ¥ @ S Y

3) afe

@

forat /e & v @ et W Tt o et

RA @ 59 W 0 o vge € it

(D ﬁwwﬁwmm
THEAAE | '

2) forelt oft foig w St 1 0T wEE
BaTe |

(3) et ot e W o o7 35k yR @
WaA e e | -

(4) foet ot fag w At Rafas s
I A |

ferit v w1 stgear gt for e FrefR @ierT & 2
(1) ad 39F UR

(2) 39 9R g =

(3) IHH 9R T 30T W YR FHT faeror
(4) ITF IR
i’F@ESHM‘m‘TWﬂ?TMW%?

(1). F=kx (2) F=ma
@) F==%x (4 F=k=x
yfcraer ot TRuTT T

(1) mﬂfamam%zgﬁzaa

(2) TCIRYE & G o I 1 UHHA
(3)  VICATRECT & HATel T W1 e STt
(4) Ty 9o ufa gfae e

35

30.

37.

38.

39.

Velocity of a particle inucm. s
directed

(1) towards th |
(2) along the tangent to the circle

(3) horizontally
@) vertically

e centre of the circle

Two bodies of different  masses

dropped from the top of a tower reach

the ground simultaneously because

(1) gravitational force of attraction
acting upon both is same.

(2) acceleration of both at any point

is same. .

(3) gravitational force on a body is
independent of its mass.

(4) potential energy of both is same
at any point.

Moment of inertia of a body depends
upon :

(1) its mass only

(2) its mass and radius

(3) its mass and distribution of mass
around the axis

(4) its mass and velocity

- The equation of linear SHM is

(1) F=kx (2) F=ma
3 F=kx _ (4 F=kx

Stress is defined as

(1) external deforming force per unit
area \

(2)  product of modulus of elasticit.y
and strain

3 ratio of modulus of elasticity to
strain

(4) internal restoring force per unit
area

Group-E
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(1
)
3)

(4)

Group-E

TRENBIG RS |
T BT W e T S T S |

o 51 Wik afie W o g waE

&5 Big! TS o1l |
R FRT SIS TR F S BT
el I I |

40. The force due to surface tension of a
liquid acts

41.

42.

43.

44.

(1)
(2)
(€)
(4)

tangential to the surface

along the normal to the surface
horizontally always

vertically always

Transverse wave can propagate through

(1)
2)
€))
4)

solids only
liquids only
gases only

solids and on the surface of a
liquid

During resonance

(1)
)

€)

(4)

amplitude of vibration of the
body is minimum

amplitude of vibration of the
body is very high

frequency of vibration of the
body is very high

frequency of vibration of the

body is minimum
4

External specific latent heat of a
substance is :

(1)
@)
€)

4)

always positive
always negative
negative if the substance expands

~ on changing its state

negative if the substance
contracts on changing its state

Emissive power of a body is

M
@)

€))

)

the energy emitted by the body

the energy emitted per unit time
by the body

the energy emitted per unit time
per unit surface area by the body

ratio of the energy emitted to the

- energy absorbed by the body

+



46.

47.

48.

49.

50.

fort worreht Bt Al S aw ae
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(4) Haw gl graEer A |

&R 1 3w w191 fwifa s g 0
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(1) aart g
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¢ ek fras Seg € 7
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FEAE |
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(4) Er 6 ueet e o F
F feu |
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45.

406.

47

48.

49.

50.

A system s said o be in
(hermodynamic equilibrium ifitisin

(1), thermal cquilihri um‘nn'ly
(2) mechanical cguiltbr;um and
thermal equilibrium only
(3) mechanical equilibrium, lhcrmu]
and chemical

equilibrium
cquilibrium
(4) mechanical equilibrium only

Amplitude ol a wave determiney
(1) the frequency of the wave
(he wavelength of the wave

(2) :

(3) the intensity of the wave

(4) the speed of the wave

Band width is the width Of
(1) asingle bright band

(2) asingle dark band

(3) a bright band and a dark band
' taken together

(4) half of the total width of a bright

band and a dark band taken
together

Dielectric constant of a medium is also
known as

(1) Relative permeability
(2) Permeability i

(3) Permittivity

(4) Relative permittivity

Magnetic moment of each atom of a
diamagnetic material is

)
“4)

(1) positive negative

(3) zero very high.

Fleming’s right hand rule is applied for

(1) get_ting’ the direction of force
acting on a conductor in a

~ magnetic field
(2) getting the direction of induced

current in a conductor.

(3) getting the direction of eddy
currents in a conductor.

4)

gelti_ng the direction of motion of
a coil in a magnetic field.

Group-E
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IMPORTANT NOTICE

There are two sets of Section-Il. Each set has question numbered
51 to 100. '

One of the sets is for Biology students and the other one is for Mathematics
students. '

Students have not to solve both the sets under this Section in any
circumstances. They have to choose only one of them according to
their choice.

OMR chart will show two separate blocks for Biology and Mathematics.
The examinees who opt Biology will fill up the Biology block by HB
pencil and those who opt Mathematics will fill up the Mathematics block
by HB pencil and then attempt the questions of the set of their choice. '

11
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SECTION-II

33,

54.

55.

56.

57.

12

CiCACEIE]
BIOLOGY
gegeikar # T T T e ﬁh‘{?{% 51. In Uricularia  the bladders  are
FATROT R ? modified 1
S aves 2) Stems
1) ufaar 2 (1) Leaves ( ‘
({3; e :4; ;z (3) Roots (4) Flowers
T § et et 3w e ¥ 52. Number of cranial nerves in man are
() 313w (1) 31 pairs
(2) 103w (2) 10 pairs
(3) 133w (3) 13 pairs
4) 1237 (4) 12 pairs
ﬁ”ﬁ@ﬁ‘ﬁﬁuﬁﬁfﬂ I E ? '53.  Which of the following is an example
(1) @@= of subaerial stem ?
(2) dis (1) Onion
3) wWEd (2) Ginger
= S (3). Strawberry
@) ; (4) Crocus
= § @ S T B JEen & Fmior & 54. Which of the following is the chain
YRS &1 1 AT 8 7 initiator codon ?
(1) UAA (1) UAA
(2) UGA g; UIng
| A
3) "AUG
g‘d UAG 4) UAG
A I AT 85 2 55. Cloud formation takes place in
(1) TR ' (1) Stratosphere
) m | (2) Troposphere
3 ;ﬁ@?‘ﬁ'ﬂ?’ . '(3) Mesosphere A
54; St iceeacoc SN , (4) Thermosphere
91 9 4@ 9 @ 99 yey foortheed 56. Which one of the following genotypes
fegmFfome ? | refers to Klinfelter’s syndrome ?
(1) XXY (2) XO (1) XXY (2) XO
(3) YO 4) XYY 3) YO 4) XYY
Utz fefogm sufdya g & §7. The enzyme trypsin is present in
(1) smEfgsEy (1) gastric juice
(2) FTamas | | (2) pancreatic juice
(3) @RT (3) saliva
| (4) s H (4) intestinal juice

Group-E



58.

59.

60.

61.

62.

63.

ﬁmﬁﬁﬁqmqﬁa@mﬁqﬁ%?
(1) wm ¢

2) W (Rw)

(3) TRES S

(4) w0 (F)

SR &

(1) foafmm
(2) 9RY EHA
(3) SigeEmE
(4) ' w~mEH

Hifyrent faurm & % dqatt @1 g
BN ferq o dqett =t wnfea
(1)
(2)
3)
(4)

TRE s,
SIS
RS
SHiferehr T

T O § Yo T SIS # AT

FA TET &
(1) 500
(2) 100
(3) 5,000
4) 50,000

Ayt gt st At & -
(1) gHrefes

(2) wEE

3) #e

(4) TeHhE

FeAl ! JH H Ferah el €
(1) 9MWIT

@) Frenfe

3) 2,43

(4) wRE
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59.

60.

61.

62.

63.

)

Which of the following is not a fibre of
plant origin ?

(1) Silk

(2) Flax

(3)
(4)

Coir

Hemp

Auxins are

(1) Vitamins

(2) Plant Hormones
(3)  Animal Hormones
(4) Enzymes

These organise spindle fibres for cell
devision :

(1)
(2)
3)
(4)

Centriole

Chromatid

Centromere
- Cell'sap

The total count of WBC in healthy
humans is around

(1) 500

(2) 100

5,000

(4) 50,000

Muscles are rich.in
(1)
(2)
3)
(4)

Haemoglobin
Myosin |
Starch
Albumin

Which of the following helps in
ripening the fruits ?

(1) LA.A.
(2) Gibberellin
(3) 2.4-D

(4) Ethylene
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65.

66.

67.
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69.

TEEAEE I S §
(1) e H
(2) weirka A
(3) TemH

(4) wmd

A ® Ad §
(1) R

(2 7=

(3) TEEAR

4) THIFRTA

s A s e
(1) 3EEE®
(2) TR
(3) YOI ¥

4) yor-HEH

TR & T

(1) fuRfrEA
2) 9

(3) fFErEs
(4) gEaaEs

Prerig W] S ST 76 T © W
(1) wrerzad -

Q) et

(3) UEHeat |

4) UAferer®

Wi  waifyeh g HARN &
(1) WREEH

2) e

(3) THITE H T

(4) HenddH
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64.

65.

66.

67.

Pneumatophores are found in
(1) Rhizophora

(2) Mangifera

(3) Rosa

(4) Musa

Sphygmomanometer measures
(1) Blood pressure

(2) Pulse rate

(3) Rate of heart beat

. (4) None of these

Seed develops from
(1) Ovary

(2) Ovule

(3) Embryo

(4) Embryo-sac

Adenine is a
(1) Pyrimidine
(2) Purine

- (3) Nucleoside

(4) Nucleotide

Triploblastic but acoelomate animals
are kept in the phylum

(1) Coelenterata

(2) Platyhelminthes

(3) Aschelminthes .

(4) Annelida

The maximally stable pesticide in soil
is S\

(1) Parathion

(2) Aldrin

(3) GamaHCH

(4) Malathion

Group-E
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T,

72.

73.

74.

i

(1 '\‘aﬁaamazﬁ;q

(2) Ty

3)  waifan

(4) TR Sty

I | ST FE 9

(1)  WFew - qosh
(2) R - Yo
(3) iR - ey
(4) drFT — e
e fohet frrcremeamn & 9

(4) S F

s Tt 3eafy fra et & 2
(1) uvsted

(2) Hrared

(3) uwred

(4) uwEd-HEEH

‘S U ATA Tk T 1 R &

(1) fommy

(2) &

(3) i

(4) HaIH

Her HowT STUrRe @it
(1) umpifer
(2) e

3) T

4) et
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70.

71.

72.

13,

74,

75

Mendel’s second law is the law of

(1)
(2
(3

)
)
(4)

Independent assortment
Segregation
Dominance

Polygene inheritance

Which is the correct pairing ?

(1)
(2)
3)
(4)

Sericulture ~ fish
Apiculture - silk moth
Apiculture - honey bee
Pisciculture — birds

Blood is composed of

()
@)
)
(4)

Plasma and Corpuscles.
Plasma and RBCs
Plasma and WBC's
Colloidal Particles

Brain originates from

(1)
()
3)
“)

Endoderm
Mesoderm
Ectoderm

Ecto-mesoderm

The ‘Red rust of tea’ is caused by a

(1)
(2)

E)

“)

‘Virus

Algae
Bacterium

Fungus .

Bone marrow israbsent in

(1)
(2)
3)
@)

Amphibia
Reptilia
Fishes
Birds
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77.
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79.

80.

et & it @ <1 a1 A e ¥
() fgam

(2) GRS

(3) vaE

(4) A

TS T AH 19 &
(1) g Safenf
(2) & efafer
(3) #mRFRY
(4) @ At

e s i e o] i e &,
FeAAI e -

(1) e

(2) Hampsh

3) Sedwn

(4)  Sfam SR,

YIaTeT & 3T S el ST §
(1) St
(2) TS

(3)  EEHE

(4) wEEEE

I | HIRTHT I fereett @ aRag 81
grer ?

(1) e

(2) <EEEH

(3) Tiestt ™

(4) wEHTgaT

16

Loss of water from the tip of the leaves
is called

(1)  Guttation

(2) ‘Transpiration )
(3) Respiration

(4) LEvaporation

Scientific name of man is
(1) Canis familiaris

(2) Homo habilis

(3) | Homo erectus

(4) Homo sapiens

A virus infecting a bacterium is
(1) 'Plasmid

(2) Bacteriophage

(3) Bacterial DNA

(4)_ Bacterial RNA

Study of Algae is called
(1) Pomology
(2) Ecology

" (3) Phycology

(4) Mycology

Which organelle is not delimited by
Plasma membrane ?

(1) Ribosomes
(2) Lysosomes
(3) Golgi body
(4) Mitochondria

Group-E
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82.

- 83.

84.

85.

86.

(2) ATIE Sy

(3) TSt wry

(4) TSy

e % e e 51 o e
(1) =wfe

(2) TRHINH

B) wH
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EEE T wEEy

(1)  3reiiaReS HrRpReET

(2) VI GYNOT

(3) WM HYeNT -
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(1) oedf () wgEa i
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(2) SEE SR

(B) wT

(4) «3URA
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84.

85.

86.

In the

human beings, the chief
nitrogenous wastg is
(1) Ammonia © (2) Urea
(3)w Uric acid (4)  Guanine

In cukaryotes, glycolysis operates in
(1) Cytoplasm

(2)  Endoplasmic reticulum

(3) Golgi bodies

(4)  Mitochondrion

The major structural component of
fungal cell walls is

(1)  chitin
(2) glycogen

‘(3) Starch

(4) Cellulose

Rtbosomes are site for

(1)  Oxidative Phosphorylation
(2) Photosynthesis

(3) Protein synthesis

(4) Fat synthesis

The following is an example of
exocrine gland :

(1) Thyroid " (2)  Adrenal

(3) Pituitary (4)  Salivary

The mast cells are present in
(1)  Areolar tissue

(2) . Adipose tissue

(3) Tendon

(4). Cartilage
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i

In this class of animals, hump contains

the main  digestive &  circulatory
organs,

(1)  Arthropoda (2) Annclida
(3) Porifera (4) Mollusca

The enzyme pepsin is presentin

(1) Gastric juice
(2) Saliva

(3) Pancreatic juice
(4)  Intestinal juice

In these animals, all respiration occurs
through the skin over the entire body
surface.

(1) Earthworms  (2)
(3) Frogs (4)

This is called the pacemaker of the
heart.

Fish
Insects

(1) AV bundle

(2) AV valve

(3) -SA node

(4) ' AV node

These do not poééess colour vision.
'(I)  Turtles (2) Sharks
(3) Apes (4) Lizards

These land plants resemble amphibians
with respect to requirement of external
water for sexual reproduction.

Conifers
(2) Ferns
(3) Gymnosperms
(4) * Angiosperms

These angiosperms are dicots.

(1)  Sugarcane

(2)  Palms

(3) Orchids

(4) Pulses "

Group-E
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95.

96.

97.

98.

99.

100.

This crop requires low inputs of water.

(1) Rice (2) Tomato

(3) Coconut (4)  Sorghum
The following is involved in
mastication of food in a grasshopper :
(1) Gizzard (2) Colon

(3) Pharynx (4) Ileum

In human, the following enzyme is not
present in pancreatic juice :

(1) Trypsin .(2) Lipase

- (3) Cellulase (4) Amylase
O, released during . photi)synlhesis
comes from
() CO (2). CO,
3) HO (4) Glucose
During hibernation, frog respires by

(1) External gills
2)
€)

(4)

Lungs
Skin

External gills and Luhgs

Trimerous flowers are characteristic of
Q)
)
3)
C))

Allium cepa

Sunflower
Brassica spp.

Cassia spp.

Photorespiration involves
(1) Mitochondria

()
3)
(4)

Chloroplasts
Peroxisomes
Mitochondria, Chloroplasts and
Peroxisomes

+

—
g
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MATHEMATICS

Those students who have already attempted Biology Section should nqi
attempt this section.

This section is essential for those students who want to attempt
Mathematics Section.

There are separate blocks' on OMR sheet provided for Biology and
Mathematics. Please fill the Mathematics block with HB pencil and then

attempt the questions.
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gue-||

SECTION-1I

T

(1) blanatanB
(2) beceotatanf
(3) btanacotp
(4) beotacotp

5.9 A ={2,3,5,B= 5 6}, T

53.

4.

55.

(A-B)x(AnB)®amz
(1) 1G.2),3,3),(3,5)
2) {B,2),(3,5),3,6)}
B) {B3B.,2),3,5)

(4) T ¥ IS T

a6 [ (Z%) =k, 5@ k & yF @ 3o

(1) T
(3) Waed

(2) <
(4) Ffawae™

X124 18 (16 A AT -

1) 0 Q@ 1.
3) «x (4) o

on fEddl § § n el H e TR F
fesyifrer femam <11 WehelT & 2

2n) ! @n)!
i—;’?—- 2) “np

!2[1! ! ZnC
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(1)

n
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2.

33.

54.

55.

A tower subtends an angle o at a point
A in the plane of its base and the angle
of depression of the foot of the tower at
a point b metre just above A is [3. Then.
height of the tower is

(1) btanatanf

(2) bcotatanf

(3) btanocotf

~ (4) becotacotP

If A={2 3,5}, B=1{2.5.6}. then
(A -B)x (AN B)isequal to

(1) {G5.2),5,3),3:5)}

(2) {(3,2),(3,5),(3.6)}

3) {G,2),6,3)

(4) none of these

The curve represented by 1 (Z?) = k,
‘where k is a non-zero real number, 1s

a/an

(1) straightline (2) ellipse

(3) parabola (4) hyperbola
xl/2 . x14 . x18 . 5116 10 w is equal
to

1) o @

(3) =x 4).

In how many ways can 2n people be
divided into n couples ?

(2n)! (2n)!
(2n) !
® Gy @4 *C,



56.

87

58.

59.

60.

61.

3) 10

WM (2, 4), (2, 6) T (2 + /3, 5) &
ECEE

(1) FHES

(2) wHfgaTg

(3) wHbAaTg

(4) ofu= g

% . 4
lim sin 4x T:EIT-[F-[%

%0 Tmnfln
(1) 4 2) 8

@ 1

i fagalt ¥ Rufr wfwr 2 -2b +37,
22 +3b-48AR -76+10¢ ¥ | 3
fag ¥

(1) U@EE

(2) IgHAEE

(3) UFH @ R TE
(4) THHFR T

T T & 3 ot F A o g
(1) 30° (2) 45°

4) cos™! [ %J

aRE T e w9 o E 5w

(3)  90°

1 ! WTfaehdr =41 & o6 qeat & 9 o it
T &2
110 (210 9 (210
(1) T[g] () m(g)
12C 12C
3) 1232 4) 312
T 21 3n
COS 5 7 COos 7008 7 H?FTIF-T%
M 3 @ -3
3) 1 4 0

56.

57.

58.

89,

60.

61.

22

The triangle with vertices at (2, 4),
(2,6)and (2 +4/3, 5) is

(1) right angled

(2) isosceles

(3) equilateral

(4) obtuse angled

lim _sindx .

s l—-\/l--_x is equal to

(1 4 2) 8
(3) 10 4 1

Three points have position vectors
7-2b+3¢,28+3b-4¢

and — 7b + 10C. These points are
(1) collinear

(2) non-coplanar
(3) non-collinear

(4) none of these

The angle between two diagonals of a

" cubeis
(1) 30° (2) 45°
1
(3) 90° 4) cos“'[g]

Twelve balls are .distributed among
three' boxes. The probability that the
first box contains 3 balls is

(1) %—0[%] @) %[%)m

12C I2C3

() 32 @ =n
2

The value of cos%cos%‘cos%ﬂ‘; is

1 1
M3 @ -3
@3) 1 4 o

Group-E
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64.

65.

1 2
2 7=,= 3
V14 \ia> g
3) 1,2,3
wibes . B

(1,0,0), (0, 1, 0

) (0, 0, ;
TR T8 T o 0,01 frgaiiz 6.

, 5t o # @

2) x2+y2+52

®) 362+ D ety rayei=g

2
4 **ry+dley gy si1=0

Ax-B x<1
g ®o T f(x) = 4 3x 1<x<2 64.
Bx?-A x2>2

x=1WIad ¢ 3R x = 2 R gad a1 ¢,
GE|

(1) A=3+B,B#3
2) A=3+B,B=3
(3) A=3+B

(4) THIFETE

‘oﬁﬁy=logx%

(1) aqaﬁa‘mﬁaﬁ'(
(2) I FHH M
(3) e W
(4) oA W

23
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65.

The direction cosines of the
6x—-2=3y+1=2z-2are

YRR
@) ] 2 3
Via* Y13 Via

@) 1,2:8

R el
14" \[14° /14

line

The equation of a sphere which passes

‘through the points (1, 0, 0), (0,-1, 0),

(0, 0, 1) and having radius as small as .
possible, is

(1) 3e2+y*+2)-2x+y+2)-1=0
2) #+y*+22-x-y-z-1=0
() 3@*+y?+z%)-2(x+y+z)+1=0

4) xP+y*+z22-x-y-z+1=0.

If the function
Ax-B
flx) =1 3x
BxZ— A
be continuous at
discontinuous at x = 2, then
(1) A=3+B,B#3
2y A=3+B;B=3
B3) A=3+B"
(4) none of these

x<l1
1<x<2
x22

W O

The curve y =log x is

(1) concave upward
(2) convex upward
(3). concave downward

(4) convex downward



66. FF pr = a’ W (p, r) g & fom awwen 66, The radius of curvature at the point

e ® (p, 1) on the curve pr= a? is
! 2
2 3 i
() i (2) ;:3 i | 2) 2
- ’ : b
©) L B 2 a?
I
67. EIF<f(n)=%[(n+ D +2)(n%3) s 67. Iff(-n) ==+ D@+ 2043 s
(n+m)]'", s fn) FMAA T (n+n)]', then nI'_':]m f(n) is equal to
1
(1) e @ < (1) e By
. 2 i
Gh G @ % 3 3 @ 3
1 x xy
I x xy .
68. J J' J dz dy dx FIHH? 68. j J j dz dy dx is equal to
M ? ' 0 2 0 - | |
1 1 ® 3 (1) 1 @ 3
1 1
3) % (4) % (€) 4 34

69. TETH 3ga aTet vigs, i forwm a & e 69. The cone of the greatest volume that

3 aiaffed fear o %, R S Y can be inscribed in a sphere of radius a
3 : p ‘ has an altitude.
1) Fa 2) Za * 3 4
M 3 .. 9 3 (1) 7a 2) 3a
5 ;
3) 4a 4) 2a 5
3 3 @ 3) 3a @) 2a
70. B WHIHOT ; 70. The degree of differential equation
42 dy \2 732 d2 dy \2 732
pd—x%=[l+(axz] ] &l Hife & | pd—x)z:é [l-&(a}%) } is
: 3 - 3
@y 1 @ 3 O - 3
3) 2 4 3 3 2 4) 3
L 2 24

Group-E



71.

2.

73.

14.

5.

76.

Group-E

2xl+5x2“3x3=3
i ¥y =2
7x|+4x2
& &l Y Wy
H 1
3 3

"‘3.\‘3:: 12

@ 2
4) I
LGl f(\') = S
g 9

1 3
@3) 6

_I\—3|mmw

2 3
@ s

AR TR @52 + b + 0= 0 g1 3

BE T o+ B3 wamy
3abc — a3
(1) ——53—"“—
3abc — b3
o
abc — 333
3p3
a3

()
©))

(4)

10
. SO - 2nm
Z [SIHT“-ICOS"_'] FHAAE

n=1 11
1y =l 2 0
) | @ i

Waﬁaﬁa}ﬂmﬁw&x+y‘=laﬁz
x+y+z=0TRISHE | THHI A FT
g2

1 1
3) 9

@ 4

9
@ 3
x2—2pxy+y2=0@ﬂﬁzﬁ7f§i@3ﬁ‘$
dgHUTE
(1) tan' (£Pp)
(3) cot! (p)

sec”! (£ p)

)
4)

cosec™! (£ p)

v 25

7.

7.
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74.
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76.

.‘:l _2x2 + x3 &= 2
Tx, + 4x, - 3x; = 12

has number of solutions
() 1 (2) 2
3 3 (4) infinity

The greatest value assumed by the
function

f(x)=5-|x-3|is
(n 3 2) 8
3) 6 4 5

If o and P are the roots of the equation
ax? + bx + ¢ = 0 then value of a? + f
is
-

) 33b§3 a
3abc — b3

o
abc — 3a3

363
a’b2c? — 3b3

“) 3

a

@)

G3)

The, value of

10
, . 2nm 2nm) .
n%1.[sm—“ —1005—11) 1S

1

& i | B 7

“Two sides of a square lie on the lines

x+y=1landx+y+z=0. Whatisits

.area ?
{1y 1 2 4
9
Qy 9 “4) 3
The angle between the lines
represented by x2 -2 pxy + y2=01is
(1) tan'(xp) (2) sec”! (xp)
(3) cot'(xp) (4) cosec! (xp)
+
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-3 0

R y2 — 4y — 8x + 4 = () & HiHY R

M .1 2 (1,2

(3) @ 1) 4) 2,2

TF HAATHR TR H Iehsahall 8
1 2 ) 2

3) 0 @ 1

% [a]=|b|=[2 +b|=1, 7 |2 - b|

HIHEE
1 1 @ \2
@) \3 @ 2

2 (sinx + cos®x) — 3 (sin®x + cos*x) + 1
HHAAE

1) 2
|
&) 5

@) <1
4) =

TF A ABCﬁ,ﬂﬁacosA=‘bcos B,ﬁﬁ'
(1) ATHCEEE |

(2) ATEGER eI THHOEE |

(3) a=2b

(4) atb=c

u&Aaﬂ'{Baﬁ%ﬁé’r@’raﬁaﬂajw

R E fHdet A=~1 T det B=3

det 3AB) ST &
(1 -9
(3) -81

@ -27
4) 81

e wHiEvT % g
x+y+z=1
x+Ay+z=2A
x+y+iz=2\3

1 e 81 A61 & UG A T &

(1 -2 2 -1

@ 1

80.
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77.

78.

79.

81.

82.

83,

(3) 3

;)

dy - 8x t4 =0

The focus of parabola y*

1S

(.0 2) (1,2

3) @1 (4) _(2‘2)

The cccentricity of the rectangular
hyperbola is

1 2 2) 2

3) 0 4 |

If |5’|=|B'|—_-|a’ - B’|: [, then | - B|

is equal to
1 1 @ 2
4) 2

2 (sin6x + cosbx) -3 (sin"x * cos"x) + 1
is equal to -
(1) 2

1
® 3

@)y 1
4)

Zero

InA ABC, if a cos A = b cos B. then
(1) the A is equilateral

the A is isosceles or right angled
a=2b

at+b=c

)
“4)

If A and B are square matrices of order
3 such that det A = -1 and det B = 3,
then det (3AB) is equal to

(o <9 (2) - <27
(3)" -8l @ 8

‘The System of linear equations
Mt+y+z=]
x+Ay+z=2
x+y + Az = A3
does not have a solution if A is equal‘to
(1) -2 2 -l
(3)+:0 4) 1
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:"‘0%'?11?{'- 1
&% A | &Y, —t
- a‘m(r+|)23ﬂqﬁ%
1y =
ca
a (2) oy
ca
3) b
b2 ) 3

85. ARX=3+i 8 whor 3

FARR ~3xi-Bx+15
(=1 @ =1
3 @ 3

86. A THIE F TH Hloulys
Wﬂaﬂ"{“ﬁ? +222+22Tj?£
zl9ss+2100+l=0%mqﬁ%. .
() Liw
(2) - w, w?
(3) 1, w?
(4) 3IgFH Y HE T

§7. 15 3eal ot foelt offim qo & @@
FIGE! i HEA ST I & FHA T, §
(1) .5
2 3
@A), 1 )
(4) INF T Y FE T

88. IR YRR WeE! A, B, C @1 D & fed
Frpferfiae < @l T frER i ¢
. (AnB)x(CND)=(AxD)n(BxC)
I (AUB) x (CuD)=(AxC)Y(BxD)
a,
(1) 1n I3 §ae |
) [ e &, oifee 1 3/ & |
(3) 1w, A | SR |
(4) e[S S E |
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84.

85.

86.

87.

88.

[f roots of the equation

a2 +bx+c=0
are in the ratio r ¢ 1, then the value of

(r+l)2 IS
be ca
M % ® 5
b
O )

If x = 3 + i, then the value of the

expression x3 —3x2 — 8x + 15 is
1y -15 2) -l
3 3 @) 8

If w is an imaginary cube root of
unity, then.the common roots of the
equations z3 + 222 + 2z + 1 = 0 and
21985 1 7100 4 1 = are

(1 1,w

2) w,w?

(3) 1, w?

(4) none of the above

In a finite group having. 15 elements the
number of elements which are their
own inverses is

@) 5
@) 3
3 1

' (4) none of the above

Consider the following two statements
for four non-empty sets A, B, Cand D

. ( AnB)x(CNnD)=(AxD)n(BxC)
. (AUB)x (CuD)=(AxC)u(BxD) *
then

(1) both I and II are correct.
(2) liscorrect, but II is not correct.
(3) [IIiscorrect, but I is not correct.

(4) bothI and II are incorrect.



89.

90.

91.

92.

gfs TfleoT x2 - 2ax + a2 +a-3=0%
T afas & AR I HE 3/ HH a8,
aq ;

(1) a<2
2y 22a<3

() 3<a<4

4) a>4

MR FHIEUT AB = AC ¥ &9 frsrd

B = C faret wem €, afg
(1) Afefexamegee |
(2) A fafes smegeeie |
(3) A Wi TEE |
(4) AT AIER |

2x2 — Txy + 3y ='oma"rnéir@nﬁ%
T . j

0w
) 60°
(3) 45°
4 30°

.91

89.

90.

92,

28

If the roots of the

less than 3, then
(1) a<2

(2) 2<a<3
(3) 3<a<4
4) a>4

equation

. x2 - 2ax +a? +a -3 =0 are real and

From the matrix equation AB = AC, we

can conclude B = C provided

(1) A issingular
(2) A isnon-singular
(3) A is symmetric

(4) A issquare

A root of the equation

x-b
x—c
x+c 0

0 x—a
g 2 0
x+b

(1 o
@ 1

(3) a+b+c
‘(4) abc

The angle between
2x2 — Txy + 3y =0 is

PR o)
(1) tan'(6)

2)  60°
(3) 45°
4) 30°

the

lines

Group-E



93. Wqﬁa'ﬁﬁl?q'[ a}ﬁ;%xQ

94.

93.

96.

(0,3) %, &rht Forear 4
M 4 @) 3
(3) \ﬁi @) 7
2
uﬁ'x2+y2—_—t___%_aﬁ_{x4+ 4 _ 2y 1
d - TR
A L wmmy
S @ 5
y
1
L ) x—;g
x3)lf3

(1) %(ﬁ* 1)4!3 +C

@ -3(5-1] +c
® 3(1-5 +c
@

= 4y 3R Y@ x = 4y - 2 AR

M @)

|l oo|w
oo olwn

3) @
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93.

9.

95.

96.

The radius of the circle passing through

2 2

the foci of the ellipse % # % =1,

having its centre (0, 3) is

(1) 4 @ " 3
-
3) 12 @ 3
If x2 +y2_=t4%andx4 +yt =2
: d

then Exx is equal to
1 o @ o

)

1 1
0 7y @ 33
3413
The value of J——(x )i ) dx is
x

' 3 4/3
(1) E[F*l) Gl

@) —% (%— 1}48 +C

Area bounded by the curve x? =

the linex=4y—21is

(1) (2)

el ool|w
cc|C  oolwn

(3) (4)

and

i
2

4y and



9.

98.

9.

100.

HEheH  GHIHT \?{'::l x=a (a ®N
fRerties @) qwitan &

(1) T JO-0F R &% y-am ®
g

2) U Ju-ugg e & c-omt - W
L

@it r=a+A(ExT) ek
T=0+pu (3 x2) shrdz st af
() axc=bxc

@ a-c=b-c

(3) bxa=cxa

4 b-a=c-a

= “REGULATION’ % 3R AgeAl
yarud fFT S & | R 3R E & &9 4 36N
€1 St WG e ey

1
M 70
1
2 3
1
@) 3
1
@ 5
g x = y cos 2’3_n=200843_7c , a9
xy+yz+2xiﬁmﬁ%
1) -1
2 0
3) 1
@ 2

97.

98.

99,

100.

M 15
® 3

1
@) 3
: 1
@ 3

e : L
The differential equation y jotx=a

(1 is any constant) represents
(1) a set ol circles having centre on
the y-uxis

(2) a set ofcircles having centre on
the x-axis

(3) asctofellipses

(4) aset of parabolas

The lines T=a+A (B’ % _f:’) and

T=Dh+ m (f X :f) will intersect if

(1) axc=bxc
2) a-c=b-c
(3) Bxa=cxa
@ B-a=ca
If the letters of the word

‘REGULATION’ be arranged at
random, the probability that there will
be exactly 4 letters between R and E is

. 27n 4mn
Ifx=1y cos 3 T2eos3. then

xy +yz + zx has value

1 -l
@ 0
@)

*4) . 2

30
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